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*~~mm•: 
(1) ~1'iU~Jtl~ 0 ill~~~' ~Wl:f~' 1'.:Yit~ 0 

(2) ~:Jtit 4 J! 0 f~~iU1'~~ ' ffiliffl~~~~M~f'FmllZJIMl&ll:rH! 0 

(3) Note that, throughout this paper, the height of a tree with only one node Is defined as 1 while 

an empty tree has height of zero. 

1. ~~Fm [A](IOJt;"-fJIJ (1-1)-(1-5) ~Jmf;Xm!;~lElnHWPJT:@GO~iG·~~~mPJF:@G x ~7J\; 
~m2?t·~W~25t·~•:®G*~~~O?t} 
For each statement in (1-1)- (1-5), please indicate Tor 0 if it is correct and indicate For x otherwise. 
(2 points each) 

(1-1) M!.m=?t!l~(Binary search)Y*tl~flfl*Ei*~J&Z.W-frdj~~)Jl(Time complexity)ffi$ O(n) 0 

'i 

(l-2) ~IVl~/J\WW\(Tree)*S• T i:f:tfJJ"1Ji(Node)l!cl:!ilEl~7J\ T Z.Wtt(Branch)#MlA: • Jlrj IVI > IEI 0 

(1-3) f:f-fijffj(Graph)Jifl*El• G $&,:(-¥:(£-J1!M x • ~ DFS ~ BFS ~~J§~ZilidtB*Ei* • HP 
DFS(x) = BFS(x) 0 ([ar] DFS: Depth First Search; BFS: Breadth First Search) 

(1-4) AVL mf(AVL tree) T 2.~t1BfJJl!i(lnternal node)~ZJS~~Ff(Balance factor)Z.fillWffi$ 1 ° 

c1-5) ~JIJ(Array)ftff:Jn~at111i:f:tzneii11i~~~~*linlbc'*t.&~fill*'N'~J¥~•:fffil(~~attn ° 

2. ~~FM [B] (10 5t; "-fJIJ (2-1)-(2-5) ~Jmf;Xm!;~lEuttmPJ T :@G 0 ~7J\ • ~~~filf PJ F !JfG x ~7J\; 

mm2~·~w~2~·~~mo~~~ro1?t·*~~mo?t) 
For each statement in (2-1) - (2-5), please indicate Tor 0 if it is correct and indicate For x otherwise. 
(You earn 2 points for each correct answer and lose 1 point for each incorrect answer.) 

(2-1) tlXlfffl.WW\(Tree)*S•ziifl*El•JUM!Jf.jff1.iJ!~~JIJ(Singly linked list) 0 

(2-2) ~~=JGW(Binary tree) T12~"ffi$5 f~=JGW(Threaded binary tree)2.*Jl.n!G*5• T1 • tc'5tft 

ffFff~Jf.j Z~ctift~lmJlU T1 P~ Ti ; {B tc'5t~f.ffE:IDJ(Traversal),Pff~M!Jf.j Z~ctlft~rdj 

~U T1~~ T1 ° 

(2-3) -llJffj(Graph)jjfl~#J G = (V, E}ZJ11!i(Vertex)f!{~PJIVl~7J\ • ;!t~(Edge)l5£PJIE'l~7J\ ; 

~ IEI > IVl2 
• JlU G &,ffi$-~fililff3(Multigraph) 0 

(2-4) ~ T ffi$- 2-3 tif'(2-3 tree) • J{rj# T ffi$- B l;J(B tree) 0 

(2-5) ~ Tffi$- B mf(B tree)!'{rjlf TM!,A(Insert)-*'ffl:i!J.i!i • J:[ijgr~P T 2.?aiJJr ; W TffiJIJ~(Delete) 

-fl:jl!i • J:[ijgijt1JD T Z?aiJJr 0 

3. ~~RJ:®GfifgmfW• c1s ?t: mm•"-fJU (3-1)-(3-5)~mz~~i!!:®Gf11t1m : BJm 3 Jt) 
Term explanation ( 3 points each) 

(3-1) Priority Queue 

(3-3) Optimal binary search tree 

(3-5) Weight-biased leftist tree 

(3-2) Uniform hash function 

(3-4) Minimum cost spanning tree 
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4. ~~m (3o 7t, 4ij1J'm 3 7t: :Ef1J\~£~~~~~~z~:rJfi:tlf'F~~~, ~PJ~~ 0 f'F~> 

For each question from (4-1) to (4-10), please choose the most suitable item from the ones given. In case ... 
that you think none of the given items can be selected as ans~er, mark 0 as your answer. (3 points each) 

(4-1) -"f'7UM~Jiflfl~1Jr~~Jt.Joo • :f~,;ic~Jiflft(MOlf!R(Key value)PJ~Ji::1JAfJ!:>7U:M!flfff:? 

(A) M.FFft~{Sequential search)$ (B) s+-Tree ft~i* 

(C) Jf ~ft~{Fibonacci search)$ (D) pg:fmft~(lnterpolation search)~ 

(E) ~5 lft~(lndex search)$ 

(4-2} -fj!Jt.lf{E~(Hashing)$ffij • PJ ht ~/f\fl~~(Hash table) • J3. ht )t~ ht[O] ' ht[l] ' ··· ' ht[b-1] 

~:J-trr b ffl§.!§.i4(Bucket) • 4ij-!§.i4(Bucket)f.Uff As •Jifl; -~~A(Hash fu~ction)PJ I ~/f\ 0 

;E= n mJl~ff A ht Z~fl•lfl • J3.Jf~li!1Rfi(Collision)Z'll~ : -"f>7UM~~Jf~li!1Rfi(Collision) 

r.tJ~~zl*~: 

(A) n < b (B) n > b (C) s = 1 (D) s > 1 

(4-3) -"f>7UM~B~az~~EJ~JE:- "-=7CW(Binary tree)" T z*llfflG*fim? 

<D 8~~ T iiiJim!il~(Graph)*fimW~/f\ T Z~~m~(Adjacency matrix) 0 

® B~aW T 7t7JU~f.f~_Ff;;;f::ID)(Level-Order traversal)Woo.FF;;E:ID'J(Preorder traversal)Zftdte 0 

® B~W T 7t7JU~ff jflj_Ff;;;f::ID](Preorder traversal)W1&.FFJ;E:ID'J(Postorder traversal)Zl'dte 0 

© B~ft T ~ffjflj_Ff;J:E:ID'J(Preorder traversal)Zftdtell T Z*JlfflGi:f=l~~lf((Degree)m 1 ZflJ 

'li(Node) 0 

® B~aW T ~ffi:f=l_Ff;;;f::ID'J(Inorder traversal)ZWdteJ3. T m%~-=7CW(Complete binary tree) 0 

~E8-"f'7U~JJ!i:f=l~lliftj@~~ : 

(A) <D® Jl!PJ~JE: r z*RfflG*5m • ©®:f Jf!J-j.~JE: r z*llfflG*Em 0 

(s) ®® JI!PJtR:JE: r z*JlfflG*E• • <D©:f Jf!PJtR:JE: r zMI.fflG*fim 0 

(C) ®® Jl!J,j.~JE: T Z*llfflG*fi• 0 

(o) ®©:f Jf!PJtR:JE: r z*RfflG*fim 0 

(E) fit!®EJJl!PJtR:JE: r z*llfflG*Em 0 

(4-4) If a set of n data records is processed through the three stages as listed below one by one, what is the 

total time complexity of the three stages? 

Stage I: Sort the data records into non-decreasing order according to key Kl by merge sort; 

Stage 2: Sort the data records into non-increasing order according to key Kl by bubble sort; 

Stage 3: Sort the data records into non-decreasing order according to key Kl by quick sort; 

{A) 0(1) (B) O(n) {C) O(n·logn) (D) O(n1
) (E) O(n3

) 

(4-5) -"f>7UM~~M!Jt.Jfl~(Hashing)~~ffjiflfl•z~l!i : 

{A) ~ffjfflfl•ffij:ffl~tt!!i5tlJHOOl(Key value) (B) ftft1ili.R.Zft~ffijrai~fl~m 0(1) 

{C) ®tf~ctlRftf.f~rai {D) i!frni~~{Key density)EJ:km- 100% 

{E) Jifl:ffm~ft(fJfjt!{iR(Key value)fjj:_Ff;f&ftf.f 0 
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Questions ( 4-6) to ( 4-10) are independent unless ?therwise indicated, but they are based on the same 

scenario as described below: ... 

Suppose that we need to sort a data set of n data records usihg a comparison-based sorting algorithm. If 

the length of data record R; is L1 where (1 Si Sn) and (m1 :S: L; S m2)) hold, and there are two keys Kl 

and K2 associated with each data record for the purpose of identification. 

(4-6) If n = 250000 and 1500 S L1 S 2250, then which sorting algorithm is most suitable to sort the data 

records into non-decreasing order based on Kl? 

(A) Bubble sort 

(C) Insertion sort 

(E) Merge sort 

(B) Selection sort 

(D) Quick sort 

(F) Heap sort 

(4-7) If n > 200000 and the data records have been sorted into non-increasing order based on Kl and 

stored as a doubly linked list, and we want to sort the data records into non-decreasing order based 

on K2, what is the average case time complexity that we can expected? 

(A) 0(1) (B) O(n) (C) O(n·logn) (D) O(n2
) 

(4-8) If Kl is not unique and we want to sort the data records into the non-decreasing order based on both 

Kl and K2 such that the data records with the same value of Kl are ordered by non-decreasing order 

of K2, what is the worst case time complexity that we can expected? 

(A) O(n·logn) (B) O(n2
) (C) O(n2·logn) (D) O(n2·(logn)2

) (E) O(n3
) (F) O(n4

) 

{4-9) If Kl is unique and the data records have been sorted into non-increasing order based on Kl, now 

we want to sort the data records into the non-decreasing order based on K2, what is the best case 

time complexity that we can expected when n > 200000 and the data records are stored into an 

array? 

(A) 0(1) (B) O(n) (C) O(n·logn) (E) O(n2·logn) 

(4-10} If n < 1000 and 150000 SL; S 250000, then which sorting approach is most suitable to sort the data 

records into non-decreasing order based on Kl? 

(A) Store the data records into a singly linked list and use selection sort algorithm 

(B) Store the data records into an array and use selection sort algorithm 

(C) Store the data records into an array and use insertion sort algorithm 

(D) Store the data records into an array and use quick sort algorithm 

(E) Store the data records into a singly linked list and use quick sort algorithm 

(F) Store the data records into a singly linked list and use merge sort algorithm 
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5. Please do the following: (15 points) 

(5-1) Please develop an algorithm based on the conditions l~ted below. 

(a) Name: Maxlnd . · 

~i'ABWl: 0211 • iP:?-:: 2 

(b) Function/Purpose: Find the element with the second maximum value in an array of n integers. 

( c) Input: an array A of n integers. 

(d) Output: the index of the element with the second maximum value in A. For example, ifthe 

elements in array A of 5 integers are: 

A[l] = 26, A[2] = 49, A[3] = 14, A[4] = 82, A[5] = 31, 

then the output of algorithm Maxlnd is 2. 

(5-2) Analyze the time complexity of your algorithm developed in (5-1). 

6. Assume that the current population of a country is 10 millions. If the birth rate per year and death rate per 

year are 1.25% and 0.75% respectively, and the country admits 1000 immigrants each month. Please find 

the number of years from now that the population of this country will exceed 50 millions. (5 points) 

7. Please give an implementation for each program units listed below. Note that your implementation must 

use programming language C or C++ and meet the criteria to get the points. (5 points each) 

(7-1) A function Swap that, when given 2 integer variables as its arguments, swap (exchange) their values. 

Not~that 

(a) the Swap function can not have local data declaration in side it; and 

(b) Neither accessing global data nor calling a function is allowed inside the Swap function. 

(7-2) A function r4bits that returns the number of l's in the rightmost 4 bits of the 32-bit integer argument. 

For example, the values returned by r4bits(98) and r4bits(ll) are respectively 1and3. 

(7-3) A program that reads an integer m (100 < m < 365) and print out the following message: 

"The mth day of 2014 is in XXX'' 

where XXX is the name of a month in a year. For example, if 168 is read, the message printed will be 

The 168th dayof2014 is in June. 


